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2024 M=xHofQlEr St ALl 2]
(X} CLASS 5)

Mo == ol 26 EHBE 2a |lezma HEE+ S4*S2 T
1A (2 3K | 82 | 4% | 25 19| [ 29 | 39| +OIES=+
20149 CLASS 5 1 1 1 3 5 5 20 100
e CLASS 5 1 1 5 5 100
[SE=a=] CLASS 5 0 5 0 100
E U] CLASS 5 1 1 1 1 1 5 5 10 35 100
A ZIER CLASS 5 1 1 5 5 100
ol CLASS 5 1 1 2 5 10 100
SRl CLASS 5 0 5 0 100
SEHE CLASS 5 1 1 1 1 1 1 6 5 15 45 100
dEL CLASS 5 1 1 1 3 5 5 20 100
ESVES CLASS 5 1 1 5 5 100
S CLASS 5 0 5 0 100
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1 X OIEFT ZEFMA ALY
N 2024 =1%ol QI E! SotM A2
L}
(‘= AF CLASS 8)
CrRl A
A Ao = oil&tel =4 EHHE 2A l=ama Hes- ST*Se VEEES SHA|
4= o o [=N=] Y ST S-yHo T - = = +[H|c|_x_|A o =
1A | 2H L [ 3AHD | 162 | 8& 42 | S 191 | 29 | 34 E8T

ips] iR CLASS 8 1 1 1 1 1 1 1 7 5 15 50 100 5000
=Pl g3 CLASS 8 1 1 5 5 100 500
4t 201 CLASS 8 1 1 1 1 4 5 5 25 100 2500
A2 =Y CLASS 8 0 5 0 100 0
=l 22 CLASS 8 0 5 0 100 0
Hl == g+& 0l CLASS 8 1 1 1 1 4 5 20 100 2000
= x| & Al CLASS 8 1 1 1 3 5 15 100 1500
A2 3= CLASS 8 1 1 5 5 100 500
e o1& CLASS 8 1 1 1 1 1 1 6 5 10 40 100 4000
=Pl ANE&E CLASS 8 1 1 1 3 5 15 100 1500
A2 0l ZE3 CLASS 8 1 1 5 5 100 500
sy y2d CLASS 8 0 5 0 100 0
A2 XA CLASS 8 1 1 2 5 10 100 1000
&= kT EH CLASS 8 1 1 1 1 4 5 5 25 100 2500
=l O] CLASS 8 1 1 2 5 10 100 1000
S4F 83 CLASS 8 0 5 0 100 0
b= =Aad CLASS 8 0 5 0 100 0
o= A= CLASS 8 1 1 1 1 4 5 20 100 2000
S8 MNEH CLASS 8 1 1 2 5 10 100 1000
=l XEA CLASS 8 1 1 5 5 100 500
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2024 M= EofQUEr FetMHL| 2]
(4 X} CLASS 2)

2= | & = decld JECEHES] L. |sgmsa] JEET STSS | gama | e
1A (2212 |3He| 42 | 23 19 [ 291 | 39| +OIES=+
2= A=A CLASS 2 1 1 1 1 4 5 15 35 100 3500
A2 394 CLASS 2 0 5 0 100 0
=+ g8 Xt CLASS 2 1 1 5 5 10 100 1000
4= 268 CLASS 2 1 1 5 5 100 500
=+ 28t CLASS 2 1 1 2 5 5 15 100 1500
3y NME X CLASS 2 1 1 1 1 4 5 10 30 100 3000
A2 CLASS 2 0 5 0 100 0




2024 M= EofQIEr FetMHL| 2]
(4 X} CLASS 3)

2= | 8y | =3 deeld SCEUEE | . |egma HEEF STSS | gama | e
1A (222 |3He] 82 | 42 | 22 191 [ 291 | 39| +OIES=+
345 010+ CLASS 3 1 1 1 1 4 5 10 30 100 3000
=Pl gt CLASS 3 1 1 2 5 5 15 100 1500
N2 AMA CLASS 3 0 5 0 100 0
=Pl =N CLASS 3 1 1 1 1 1 5 5 15 40 100 4000
=l s Rl CLASS 3 1 1 5 5 100 500
3y Aol = CLASS 3 0 5 0 100 0
=l X243 CLASS 3 1 1 1 3 5 5 20 100 2000
3y A= CLASS 3 0 5 0 100 0
& 2+ Ot CLASS 3 0 5 0 100 0




2024 M= EofQIEr FetMHL| 2]
(4 X} CLASS 4)

2= | my | =3 dee2 ECEHPE ) s |soma | HEET [S=S3] qana | oy
1A (222 |3HY| 42 | Zs 19 | 291 | 39/ | *OIEE=
=yl oro| s CLASS 4 1 1 1 1 4 5 15 35 100 3500
4= 262l CLASS 4 0 5 0 100 0
2= WES CLASS 4 1 1 5 5 10 100 1000
4= =] CLASS 4 1 1 1 3 5 10 25 100 2500
4 HAS CLASS 4 1 1 5 5 10 100 1000
2= =26} CLASS 4 0 5 0 100 0




2024 M= EofQIEr FetMHL| 2]
(4 X} CLASS 5)

2= | my | =3 decd ECEHRE || =2ma WEST 1S3 pama| oy
1A (222 [3HY| 42 | Zs 191 | 29 |39 |+HESE=
ER= 22 CLASS 5 1 1 1 1 4 5 15 35 100 3500
S4 01& 0l CLASS 5 1 1 5 5 10 100 1000
M= SHE 0| CLASS 5 0 5 0 100 0
A2 L0t CLASS 5 1 1 5 5 10 100 1000
=yl 24l CLASS 5 1 1 1 3 5 10 25 100 2500
345 ol CLASS 5 0 5 0 100 0




2024 M= EofQIEr FetMHL| 2]
(4 X} CLASS 6)

2= | my | =3 decld J=d EHRS L legma| NEET {SHSS ) pana | ey
1A (222 |3HY| 42 | 23 19 [ 291 [ 39 [ tOIEE
=1 242 CLASS 6 1 1 2 5 5 15 100 1500
A2 st&0l CLASS 6 0 5 0 100 0
M= oled CLASS 6 1 1 5 5 10 100 1000
= grer 0| CLASS 6 1 1 1 3 5 10 25 100 2500
M= o2 CLASS 6 1 1 1 1 1 5 5 15 40 100 4000
4= oles CLASS 6 1 1 5 5 100 500
=Pl 019 CLASS 6 0 5 0 100 0




2024 M= &ofQIE FetMHL| 2]
(4 X} CLASS 7)

49 | s3 pec === s4 |sgmsb—=C =SS | usas | e
1A (223K 82 | 4% | 2 19| [ 29 | 39| +OIES=+
L=2E CLASS 7 1 1 1 1 4 5 10 30 100 3000
Ol = CLASS 7 0 5 0 100 0
2A3= CLASS 7 1 1 2 5 5 15 100 1500
2= CLASS 7 1 1 1 1 1 1 6 5 15 45 100 4500
U= CLASS 7 1 1 2 5 10 100 1000
gt CLASS 7 1 1 5 5 100 500
A0 CLASS 7 0 5 0 100 0
19| CLASS 7 1 1 1 3 5 5 20 100 2000
=3 CLASS 7 0 5 0 100 0
olLted CLASS 7 0 5 0 100 0
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2024 M= &ofQIE FetMHL| 2]
(X} CLASS 10)

dq Ct N A
e O = ol el 2 P P H=sE+ 452 TP ot
= oS o S ST SHO T +[].”CI-I-IA (=2
A 2A |3 A |4H 191 | 291 | 3¢ il

S zlsd CLASS 10 1 1 1 1 4 5 15 35 100 3500
= 2% | CLASS 10 1 1 2 5 5 15 100 1500
A 013t CLASS 10 1 1 1 3 5 10 25 100 2500
H= ZYX | CLASS 10 0 5 0 100 0
3= 233 | CLASS 10 1 1 5 5 100 500




2024 M= &ofQIE FetMHL| 2]
(4 X} CLASS 11)

d 24 HE SR A AAXS

A== S 3 =] ~ ST SEoT +HeEA ST =

IHY [2HY | 3H ]| 42 Z2s 19 | 294 | 344 =87
3= AN tks CLASS 11 1 1 1 1 1 5 5 15 40 100 4000
N2 2ol & CLASS 11 1 1 2 5 5 15 100 1500
&= ST CLASS 11 1 1 5 5 100 500
CH= 2 X2l CLASS 11 0 5 0 100 0
3= ALLEGH CLASS 11 1 1 1 1 4 5 10 30 100 3000
S ZNE CLASS 11 0 5 0 100 0
N2 2484 CLASS 11 1 1 5 5 100 500
3 HEA CLASS 11 1 1 2 5 5 15 100 1500
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